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A. Read the story and choose the best answer.

What was Sringeri Srinivas want?

1. He wants to see a tiger.

2. He wants to go into the forest.

3. He wants a haircut. 

Ans. 3. He wants a haircut. 

B. Who has no time to cut Sringeri Srinivas's hair? Put the people in the order that he meets 

them from 1 to 4.

2 His wife

3 His tailor

1 The barber

4 The carpenter

C. Write T true or F for false. Then, correct the false sentences. Write them in your notebook.

1. Sringeri Srinivas is sad because he can't find somebody to cut his hair.    T

2. He goes past a forest and sits near a cave.  T

3. The tiger is in a tree near the cave.  F

The tiger is in a cave near the tree.

4. The tiger is sleeping. T

5. The tiger wakes up because Sringeri Srinivas goes into the cave.

The tiger wakes up because Sringeri Srinivas cried loudly which had distributed the 

tiger.

6. The tiger bites off all of Sringeri Srinivas's hair.  F

The tiger roars and all of the Sringeri Srinivas hair fall.

D. Answer these questions.

1. Why does Sringeri Srinivas want a haircut?

Ans. Sringeri Srinivas wanted a haircut because it was the annual haircut day.

2. How does he feel at the end of the story? Why?

Ans. He felt happy at the end of the story.

Because now he would not need a haircut for a very long time.

3. Sringeri Srinivas goes to many people asking for help but no one helps him.

What do you do when someone asks for help?

Ans. I would help if someone ask for it. 


